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clc;

clear;

close all;

%% Ans A

n=0:100;

sigma=1,;

A=1/5.8;
h=A*exp(-(n."2)./36);
H=fft(h);

subplot(2,1,1)
SS_rep_dt(0:length(h)-1,h,[]);
title("$h[n]$',' Interpreter’,'latex’);
subplot(2,1,2)

SS_rep_dt((0:50)/100*2*pi,H(1:51),[], Frequency’):;

title('SH[K]$','Interpreter’,'latex’);
ax=gca;
ax.XTick=0:pi/4:pi;

1.5
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T T
g X

Frequency
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- T
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ax.XTickLabel={'30$" 'S\frac{\pi}{4}\pi$' 'S\frac{\pi}{2}\pi$' 'S\frac{3\pi}{4}H\pi$' '$\pi$'};

ax.TickLabellnterpreter='latex’;
xlim([0 pi]);
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%% Ans B Sample
figure; - X K]
x=exp(-0.03*n)+sin(2*n); o |
X=fft(x); 20| -
subplot(2,1,1) I
SS_rep_dt((O:lOO),x,[]); 0 _T_O_oLoo_aoo_@oo#oo#oo&oo@-eon_aoo_ao_o_i 3 @0 000000000000 00
title("$x[n]$','Interpreter’,'latex’); . | | |
subplot(2,1,2) 0 T T Bl .
SS rep_dt((0:50)/100*2*pi,X(1:51),[],' Frequency"); Frequency
title('$X[k]$', Interpreter','latex’);
ax=gca;

ax.XTick=0:pi/4:pi;

ax. XTickLabel={'$0$" '$\frac{\pi}{4H\pi$' 'S\frac{\pi}{2}\pi$' 'S\frac{3\pi}{4}H\pi$' '$\pi$'};
ax.TickLabellnterpreter='latex’;

xIim([O pi]);
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%% Ans C
figure;
x_f=conv(x,h); 40(,
X_f=fft(x_f); 20 |-
subplot(2,1,1)
SS rep_dt(0:99,x_f(1:100),[]); 0
title('$x_f[n]$', Interpreter’,'latex’); 90
subplot(2,1,2) 0

SS rep_dt((0:50)/100*2*pi,X_f(1:51),[],'Frequency");

title("$X_f[K]$','Interpreter’,'latex");
ax=gca;
ax.XTick=0:pi/4:pi;

ax. XTickLabel={'$0$" '$\frac{\pi }{4}\pi$" ...
‘S\frac{\pi H{2}\pi$' '$\frac{3\pi}{4}\pi$' '$\pi$'};

ax.TickLabellnterpreter='latex’;
xlim([0 pi]);
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= e:cp( 0.03xn) + sin(Zn)

s el OT] el i jTﬂ | L,LET gﬁﬁlﬁl ol o ij Jo o I H‘f A fi ‘[QT ol %Tﬁiqli?lﬂl 71011 I g?
_20 10 20 30 40 50 70 90 100
. z1[n] = exp(— OO3>|<n)
0.5 :
0 ﬂﬂﬂﬂﬂmmmmmmmmm
0 10 20 30 40 50 60 70 80 90 100
zf|n]
%% 1 i i i i I | I
figure; 0 qﬂmmmmﬁIﬁTﬁTTj TTj TTT T1517e170¢TeeT0eP000 0?0090 00200 PecPRoPRePR00R0ePocPocPoeP0q22.
subplot(3,1,1) | | | | | | | | |
SS_rep_dt((0:100),x,[1,"); " 10 20 30 40 50 60 70 80 90 100

title("$x[n]=exp(-0.03*n)+sin(2n)$','Interpreter’,'latex’);
subplot(3,1,2)

X 1=exp(-0.03*n);

SS rep_dt((0:100),x_1,[1,");
title("$x_1[n]=exp(-0.03*n)$','Interpreter’,'latex’);
subplot(3,1,3)

SS_rep_dt(0:99,x_f(1:100),[1,"); - _ . : . _ .
title(‘$x_f[n]$, Interpreter’ latex’); =% &t S5 ailge 5 23,5 iz gux b Gl gusis adlge x[n] JuSws 555 » 5kt Jloel L
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1\\5 (FREQUENCY-SELECTIVE FILTER ) U5 @ yuloui! pilid

O

(S i (9 olS 5 0330mn S (sloailye b al 53 el ullS 5 RS 2L il gl ) S,
Wigh oo DA wld pl lawgd ( wilS 3 sladdlge plu puoren oile o
D 35 O ygee ds 03l pl [y Jlos! sla ilid o 5ig e @
(deal Low-Pass Filter) Jloas! ;35 ol il v
(Ideal High-Pass Filter) Jloas! ,a5YL il :g,;‘/
(deal Bandpass Filter) Jloas! ;35 Lo il =C‘/

(Ideal Bandstop Filter) Jloos! ;55 L s 4
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1\\; (IDEAL LOW-PASS FILTER) JTows! ya couils yidd 108

O

ool g5 O y90 4 Jlows 38 0l ild o b ol

1M (o)l 1 |(l)| < w
|H(w)| = C
0 |w| < w,
! Db oo aiaS (cutoff frequency)adad ,ilS 8 W 4 ®
I \ >
G, U W, w

12 d90ls  gio o Eiils IR due> i85 — o 9 JLSw
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File Edit Analysis Targets View Window Help . s H H . . . [
DEEaER | a< 00 EENE4+0 BLORE W - : g 0
rCurrent Fitter Information - Fiter Specifications
A
Mag. (dB)
Structure: Direct-Form FIR or Apass
Order: 50 T
Stable: Yes A
Source:  Designed stop
Store Filter ... f ' -
1] E F Fal2 f (Hz)
Filter Manager ... pes stop
I Response Type S Fitter Order S Frequency Specifications. S Magnitude Specifications
@ Lowpass w O Specify order: 10 Units: Hz e Units: dB [
TH+
T O Highpass ~
. (®) Minimum order Fs: 48000
T () Bandpass freren 1
- () Bandstop ___ Options Fpass 9600
Astop 30
s (O |Differentiator > Density Factor: 20 Fstop 12000
Tk I Design Method
e O R Butterworth -
=
E:E},j ® FIR Equiripple i
E Design Filter
Ready

0
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rCurrent Filter Information

oS b 002 glad o 35 (uilS 5 b L350l (6L maplyene 08 (2,5 ®

el oo 0 w3 |y K @0 mwl EXport a5 SS L File sow 5l )b

__ WMagnruoe HESpoONse (0o )
1 — —I—-h I I I I I I I I ]
Structure; Direct-Form FIR o 20 - ]
Order: 63 =
Stable:  Yes L a0t II". —
Source:  Designed = \
= '|
o
@ -60 '| n
= I
-80 - f “\. \ N i
| || | IJ 1 o\ TR T\ AT
Store Filter ... 0 0.1 0.3 0.4 0.5 0.6 0.7 0.8 0.9
Fiter Manager Mormalized Frequency (=« rad/sample)
— Fitter Order I Freguency Specifications - Magnitude Specifications
®  Lowpass v I W 10 Units: Normalized (0 to 1) v I Units: Linear
D Highpass w
@ Minimum order 43000
D Bandpazs Dpass: 0.01
D Bandstop __ Dptions Wpass: 0.1
D=stop: 0.0001
] Differentiator b Density Factor: 20 watop: 0z
- De=ign Method
] Butterworth w
I @ FIR Equiripple e I
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Alpos dB 4 soe S Jos Glp el s solaiwl dB 5l (ild ilS b ca goles 0 ® /

oS oo dmle |y ] 00 o0, /
) H(@)laz = 101ogso(|H(w))

gl ools inled ye yho 4 ooy olael 0gd o el ioles ol ®

Magnitude (dB)
i P
i _
| |
|

&
_
|

i

-]

_
|

e (\.(” AAATATATATATATATATATATAYATATATAYAYATATA

I\l | T AT bl
0 0.1 0.2 0.4 0.5 0.6 0.7 0.8 0.9
Nﬂrmallzed Frequency ( = rad/sample)
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lc; clear; close all; C{//

[SriginalSig, fs]=audioread('OriginalVoice.wav');
[noisySig, fs]=audioread('NoisyVoice.wav');
load Filter.mat (/

[o3e)
© 70

filtered sig=conv(noisySig,Filterl);
izdlowrlte( FllteredVoice.wav ,flltered_51g,fs);[$&)Q54)0}03Q‘m916%£,in. 5 e

[oNe)

.

OriginalSig=fft (originalSig, £s); oS B L Sl ks gl 8, sl ol )3
No1 ig=ff ' ig, £8); N
o18ySig=tit(noisySig, fs) S b 3500Hz , 3000Hz s , i

Filtered sig=fft(filtered sig,fs);

Saled 1l Gl S8 @ 1) JiSs u
figure;
subplot (221) 0 u2d oo Gygo @ oo 1) odls 0,53 JLKw
plot (abs (OriginalSig(l:end/2)));
title('Original Signal');
subplot (222)
plot (abs (NoisySig(l:end/2)));
title('Noisy Signal');
subplot (223)
plot (abs (Filtered sig(l:end/2)));
title('Filtered Signal');

N
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